
Name: 　　　　　　　 Date: 　　　　　　 Score: 　　　

Multiply decimals by powers of ten

7.113 × 100000 = ________ 5.969 × 10000 = ________

4.56 × 1000000 = ________ 4.42 × 1000 = ________

6.706 × 1000000 = ________ 4.528 × 1000 = ________

1.72 × 1000000 = ________ 8.151 × 100000 = ________

1.142 × 1000 = ________ 2.256 × 100 = ________

8.526 × 1000 = ________ 1.938 × 1000000 = ________

3.448 × 10 = ________ 5.814 × 100 = ________

8.828 × 10 = ________ 8.843 × 100000 = ________

9.38 × 100 = ________ 5.179 × 1000 = ________

9.085 × 10000 = ________ 3.509 × 100 = ________
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Name: 　　　　　　　 Date: 　　　　　　 Score: 　　　

Multiply decimals by powers of ten

7.113 × 100000 = 711300 5.969 × 10000 = 59690

4.56 × 1000000 = 4560000 4.42 × 1000 = 4420

6.706 × 1000000 = 6706000 4.528 × 1000 = 4528

1.72 × 1000000 = 1720000 8.151 × 100000 = 815100

1.142 × 1000 = 1142 2.256 × 100 = 225.6

8.526 × 1000 = 8526 1.938 × 1000000 = 1938000

3.448 × 10 = 34.48 5.814 × 100 = 581.4

8.828 × 10 = 88.28 8.843 × 100000 = 884300

9.38 × 100 = 938 5.179 × 1000 = 5179

9.085 × 10000 = 90850 3.509 × 100 = 350.9
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